@ l Q & S quatre décimales, ordre des opérations avec
i parentheses

Nom: Date: Note:
62—4)+2= 30+5+6,8)x6,9 =

(15+5-5,4)x3,9 = 4+4,6)x3,4+4,6=
(2,4-4,7)x2+5,9= 96,9 +3,2)+3=
4,7-4,7)x2,7+5,4= (18+6+4,4)x3,4=
4,9+6,2)x3,8—5,5= 16(6,9+5,5)+4 =
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@ l g S quatre décimales, ordre des opérations avec
i parentheses

Nom: Date: Note:
6(2—4)+2=-6 (30+5+6,8) x6,9 =88.32
(1I5+5-5,4)x3,9=-9.36 (4+4,6)x3,4+4,6=33.84
2,4-4,7)x2+59=13 9(6,9+3,2)+3=30.3
4,7-4,7)x2,7+5,4=54 (18+6+4,4)x3,4=25.16
(4,9+6,2)x3,8—5,5=36.68 16(6,9 +5,5)+4=49.6
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